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QUESTION 1

Which statement describes the public network connection of a Celerra with a single Control Station?
A. Comprised of a single physical Ethernet connection

B. Is formed from dual redundant physical Ethernet connections

C. Comprised of a virtual Ethernet EtherChannel connection

D. Is formed from a virtual Ethernet LACP connection

Correct Answer: A

QUESTION 2

An administrator needs to configure a network trunk on a Data Mover using the command:
server_sysconfig server_2 -virtual -name trk0_la -create trk -option "device=cge2, cge3 protocol=lacp
What additional option is used to add statistical load distribution to the trunk configuration?

A. Ib=mac

B. -0 start

C. -0 mac

D. Ib=on

Correct Answer: A

QUESTION 3

What is a benefit of using ATA. storage in a NAS environment?
A. High performance storage for OLTP applications

B. High volume storage for high performance environments

C. High volume storage for low performance environments

D. Medium performance storage for OLTP applications

Correct Answer: C

QUESTION 4

How is the combination of an IP address and a Transport port number defined?
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A. Full port

B. Slot
C. Socket
D. Specific port

Correct Answer: C

QUESTION 5

The SavVol High Water Mark (HWM) is set to 0 when a scheduled checkpoint is created. What action is triggered by
SnapSure when SavVol is at 90% capacity and there is available disk space?

A. Data in oldest checkpoint is deleted and the space is recycled.

B. Data in oldest checkpoint is automatically copied to tape.

C. Data in most recent checkpoint is deleted and the space is recycled.
D. SavVol is automatically extended when near-full capacity is reached.

Correct Answer: A
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